Examination Practice Paper 3 (Pearson IGCSE 9-1) Answers
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11 a y=mx+c;mis gradient, cis y-intercept

b Gradient of line perpendicular to line L is 1,
Product ofthe gradlents of perpendicler Ines <
2xmy=

“Am=

b (an) = ann, (@b = am x b
2% x 5°6)% = (2°)4 x (679
“an=2

2758,

5000x - 62517

at turning points.

ar
d
dr
x=4,5=10000

=5000 - 1250x = 0

b (4,10000) is a maximum point as the curve is an inverted
parabola (y = ~ax”...)

© £4as this produces the greatest profit of £10000,
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3500:7rr2+%x47rr2: ur?

area of circle = 77 surface area of sphere = 4772
3600

Ld=39.1cm@sf)

=3 x T X 195441 = 156352...

=156000m3 35.1)

Similar figures of corresponding lengths £ and L.
Ix k=L where k is the length scale factor.
Ix3=1

oxkI=V

6000 x 3= volume of large drum, V

V=162 x 105cm?

Number of large drums = 3290 10° _ 59009
162x10°

axki=A

2000 x 3 = Area of a large drum = 18000cm?
10000cm? = 1m?

Area of all large drums = 20000 18000

m? = 36000m?

Total cost = $1.20 x 36000 = $43200




image9.png
16 a i =t

2
b If x =1, the denominator = 0
x cannot be 1

SRS

il The input is the output as ff(x)
f(x) is its own inverse
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17 Triangle BAG has <A = 30°, 2B = 20°, £G = 130°,
AB = 1500m
‘SASA' 50 use the sine rule.
BG _ 1500 po_ 1500
§in30° ~ sin130° Sin130°
BG =979m (35f)

x sin30° = 979.066...

18a7-x

b All cells sum to 50.
Total must sum to 50:
50=x+1049+13+(7-0)+(B-2)+6
50=53-x,£=3

19 a3
b p(Aand B) = p(A) x p(B) if A, B are independent.

an 30110

Solving for n by multiplying across by 30nin — 1)
gives n” - 7n
i = 7)=0, 50 1 = 7, number of people in club = 3n =
21 people.
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20 a

?-8r+21=(x-4F-164+21= -4 +5
a=4,b=5

1= 2%~ Br+21 =w-47+5

(x - 42 will always be positive so, when x = 4,

this value s 0.

#{t)e =5 when v =4

Also, the curve is a U-shaped parabola with minimum
point (4, 5)

21 Let the first integer be , the next integer is n + 1.

n
n

P -n?=n?+2n+1-n?=2n+1
+meti=2n+1
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~f(x) = ~{7 + 6z ~ 27 = x* - Bx - 7: Reflection of f(x)
inx-axis.

0.51(x) = 0.5(7 + 62 - %) = 3.5 + 3¢ - 0.527 Stretch
paralel to y-axis, SF = 0.5

12x) = 7 + 6(28) - (20 = 7 + 12x - 4x% Stretch
parallel to x-axis, SF = 0.5
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1 3283105y 0749 = 2.41 x 10" (35£)
18 10°
2 width = height
6x=dir+7)
Solve for x.
br=dr+28
2r=28,

Trial point (0, 0] could be used to check region 2x + 3y = 13
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I

0an = ., where x are mid-points.

x1+15x4418x74px10
FEY)

55=

Solve for p.
5,537 +p) = 190 + 10p

2035 +5.5p =190 + 10p
135=45p,p

5 (ABCD s a cyclic quadrilateral, so opposite angles sum
10 180°)

(angle at centre of circle = 2 x angle at circumference)
y=2x56
1120
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‘FOIL

-3+ 7)=2% 4+ Tx-3r-21 =22+ 4x - 21

FoIL
(5x - 37 = (5¢ - 3(6x - 3= 257 - 30r + 9

Expand last two brackets by ‘FOIL' then expand

this by (3x - 1)

@~ 12— e — 1= B - V22 ~3x + 1)

=627 - 9% +3r - 227 4 3r ~ 1
667 1154+ 62 - 1

W7 =207 +1) =2 %7 +47 -2/7 -

347
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7 LetA,=area of AABC.
Let A, = total surface area of pyrami.
Base area + four triangular faces.
A=10x 10 +44,

area= L basex height
1

A= 7% 10 x AM

Pythagoras’ theorem

AC? = AM? + MC?

AM? = 13- 52= 144, AM = 12

A;=5x12-60,4; =100 + 4 x 60
340cme
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8 n-sided regular polygon
exterior angle, ¢ = 180° ~ 120°= 60°

350 o1 aroular -sid polygen

360
60=30n=5

an-sided polygon

360 _ g0
a6 1

€+ i =180° for a regular n-sided polygon

interior angle, = 180° - 15° = 165°
° v
i
|
[
[
T
L [z
- -5 3456
R
Ls.
s

 Draw construction lines from vertices from E to A
shows centre of enlargement is where they meet.
E mapped onto A by an enlargement SF
centre (2, -2)

about
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Age (years) | Cumulative frequency
0<t=s “
0<r=10 67
0<t=15 87
0<t=20 o7
0<t=25 100

b Plot ‘endpoints’ (5, 41)...(25, 100)

ETDD

g 8

s

§ 40

E 20 i

8 o[
o5 1015202

Age (years)

© Lower quartile = 3 years; upper quartile = 12 years.
LQ found at 25th value, UQ found at 75th value
IGR=UQ - LQ
Interquartile range

12-3=9years




